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At least I do not find n©> which is "¥2 by muR

OVERVIEW

X177 27 rejects the X370 of the X3 on the Mw: 7X, since we do not find 72>
2"ya mwrRl, so the fact that there is 3"¥2 703 cannot break up this Mwa 7
from which we wish to derive a 1Ip of MR (by 191). Our MddIN explains
that there can be no refutation of 5"v2 1MOWR XY MW X2 o0 from 71vp WITp.

mooIn anticipates a difficulty:
— N9 DYa NIVP INI YTPN ANNY 29 DY 9N

Even though that the father can be w7p» his minor daughter >'"¥2; how
then can X117 27 state that there is no 3"¥2 by mw>x2 703?!

mooIn responds that -
— Y997 AN Yya P ND ANN NYTH NINY 11D 01PN Yon

Nevertheless since the Pu17°p is with the father’s consent, it is not

considered 2'""v2 as I previously explained, that since the father is in the place of
his daughter it is not 3"¥2. Therefore we do not find a case of 5"¥2 mw°X2a fo>.

Mmoo offers an additional proof that 710p *17°p is not considered 2"v2:
$NOINT NIVP INA NN TDIN ANNY (3,1 MNa) NI IRN 23 NINITYN 1) NN NI

And furthermore we also find the same situation by 11917, that the father

delivers his minor daughter to 7127 even 3"va. Nevertheless the X3 considers
7917 to be InNYTA; the same applies to 710P WTP.

SUMMARY
We cannot refute the mwn 7% because we find 2"v2 7ivp *w17°p, for it is not
2"y32 since it is AN NYTA, or that the same 3"v1 is found by 7191.

THINKING IT OVER

Why does nmpoin find it necessary to repeat here what we were already
previously taught that whenever the father does something on behalf of his
daughter it is not considered 3"¥2 since the father takes the place of the
daughter?!’

! See 1Pw 7"7 X,7 Moo and the previous AR 7"7 MooIN.
2 See TN (2% 772) 2"¥7 ®OR 73"72 MYWI N2
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